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FLOW RESISTANCE AND TURBULENT STRUCTURE
IN OPEN CHANNEL FLOW WITH SUBMERGED VEGETATION

1 2 3
Takayuki TANAKA, Terunori OHMOTO and Toshiyuki TANAKA

1 860-8555 2-39-1

Vegetation colonies are often observed to grow in stripe pattern or patches within many stream channel. In this
paper, the influence that interaction of longitudinal vegetation zones gave to the flow resistance in an open-channel
was examined experimentally. Laboratory experiments were conducted using a two-component electromagnetic
current-meter to clarify the momentum transport between main flow and flexible artificial vegetation. Results showed
that the flow resistance significantly depended on the lateral distance between longitudinal vegetation zones and the
reason could be explained by the difference of convective momentum transport through the interaction between
longitudinal vegetation zones.

Key Words : submerged vegetation, flow resistance ,turbulent flow structure, momentum transport
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